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COMPOUND INTEREST WORK SHEET
Gal_(h 6UL_I1Q

When the interest is paid on its principal only, it is called the simple interest
but if the interest is paid on the principal as well as the accrued interest, it is
called compound interest.

When the interest is compound annually,

Amount: A= P(1+ ij

100

P: Principal

R: rate of Interest

n: No. of years

Compound interest C.I = A-P
When the interest is compound half yearly,

2n
Amount: A=P 1+i
200

When the interest is compound quarterly,

4n
Amount: A=P 1+i
400

When the interest is compound annually and the rate of interest differs
years by years,

Amount: A=P(1+ R j(u Ry j(n Ry )
100 100 100

R.R,,R, are interest rates for I, I, III years respectively.

P: Principal

R: Rate of Interest
A: Amount

n: No. of years
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CHENNAI

nk
A=p[1+
( 100kj

If the interest is compound annually, then k=1
If the interest is compound half yearly, then k = 2
If the interest is compound quarterly, then k = 4

If the interest is compounded annually but time of the form a% years, then

A:p(1+lgoj(1+c (ggo)j

SIFeVle0 LB el SHISHLB CFNSHSHOT0 DWSH SHeNaU g 6T6HILIT.  HLEITEL
SIFVGHGD, HILLOU' L el ipuip@ld GFTdHg ey HaibHL B OCFaHIHemmen
SIS Fnl (b GULLY 6GTEOIMI SDIGHLPLILIT.

OLeOT(HGHTWID 6UL 19 Fnl L LILIL L T6V.
QULOTSHOHTM S A:p(“ﬁjn
100

p:- Sige0

R:- ey aisb

N:- QU(HLMISH6NT 6T 6160016001 b6m

LB eully CI =A-P

SIMTWTeI(hGHTWID ULl Fnl L LILIL L T6D
: R )"

QTsHsH CHTND A—P(1+%j

smeuTeni(h CHTWID 6ul' 19 &nl L LI LT6L

R 4n
QomgHs 6 A=P|1+—
LDITQ')Q') Q’)WGG)&E» ( +400j

W BEHTWID  U'ly HEISHLLLGSGBH D60 el  IHD  eeubeum(h
SLewihD Geumiu L med
CwrsHs OCFTms

A= P(l+ R J(1+ R, j(1+ R j
100 100 100
R,R,, R, eteiugl I, II, Il eupLmis@epsamer ail'ly aismisel
p:- Sige0
R:- e’y aisid
A:- Qungs OHTmH

N:- QU(HLBIBH6IM6IT 61601600160

nk
A=p[14+ R
a0

SIBHCHTWID el lg Fnl LU’ Lme0.K = 1
SITWTERIHCHTRID aul'lp gl LU’ Lmed K= 2
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CHENNAI

sreomeni(h CaTmid aully gl Ll Lmed K= 4

W BCHTWID Ul  HIGHLLILBH@BEH LMD  QU(HLHISH6IT aE AU AISHH60
c

@ mLler OwrsHs CHTens

A:p@%f[“c (ggo)j

II. The compound interest formula is used in the following situations.
i. To find the increase or decrease in population.

ii. To find the growth of cells when the rate of growth is given

iii. To find the depreciation in the Value of Machines, utility applicants etc.,
LNeiTeu(HD GHloBlemevselled Fnl (B aul ipuiel @GS o LGWTSHSHLILBHSH GBS
1. 1DEFET OFHTMH 2 _UIT6) DIELEVBHI HMBENa! SHeuTL_ il
1. Ogeosefler euenTFFlenuws HewiLpfideo, euenTdFd aipbd CETHHSILBLD CUTIDSI
1. uweum’ (B 2 _LsJemidber QuibaTmiseT Gumeaimeunsler CHUIDTeISHMmS SH6euiL sl

Find the compound interest for the principal in Rs. 4000, rate of interest is 5%
pa and the period is 2 years. when interest compound annually.

¢h. 4000 eleId SiFe0 5% WG @il ipuied 2 UL HTVSHH OBFTHHGHD Fnl B
QUL 1H0HTNS HTewd. PeIBCHTBILD 6l lg Sl (HD OLTLPSHI?

Principal Rs 5000, R = 4% pa, n = 1 %2 years, interest compound half yearly.
Compound interest?

oIFe0 ap. 5000, R=4% guemip auliguiled, n =1 %2 au@pLmisel S0y SpeuthGHTHID
ALY Sl LGBl (B eullg?

Principal = Rs 10000, R = 8% pa, n = 2 % years and interest compounded
yearly, C.1.="7?

g0 = . Rs10000, R = 8% ouewiG auiguiled N = 2 ¥ au(mLmisbei1, enihGHTHID
alllp gl (B Qumupg? C.I1.=?

Principal = Rs. 30000, R = 7% for year I, R = 8% for years II compounded
annually, CI= ?

o1F60 5.30,000 R = 7% I sumLsaded, R = 8% Il sumL 5860, uewiGBHTHBID aul1g
gL Llupdamag. CI="7?

Find the C.I. on Rs. 12000 for 3 years at 10% pa compounded annually.

eh. 12,000, 10% ewiB o iguiled 3 aUHLHHe0 YeRIBEHTHID QU1 Fnl LIILIL L T6V,
C.I snemis:
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Vijay obtains a loan of Rs. 64000 against his fixed deposits. If the rate of
interest be 2.5 paise per rupee per annum, Calculate the C.I. payable after 3

years.

almul  Hergk Heweowimerm  waull] HHUIImBHEH  H. 64,000 HWSH IS
QUBIBGBTT. Ul lg HBHID PITeNgBE 6 AHUTUISEG 2.5 dUFT, 3 au@HLLD L6
Ceanshs Geouewiguwl sl B e 19SHCFHTmE SHTewH?

Compute the C.I. on Rs. 12000 for 2 years at 20% pa when compounded half-
yearly.

eh. 12,000, 20% et Ul lguied 2 UBLGHHD CBTHHGD Gl B aU1I9H0HTend
BB BB, DIt CHTWID Ul Fnl L LILBLOOLT(IHSI.

Calculate the C.I. on Rs. 1000 at the rate of 10% pa for 18 months when
interest is compounded half-yearly.

b 1000, 10% ouewiB eullguled 18 WTHHH® OFHTBHGWL (B I I19HOHTEND
HWIHH(HH. DIEOTWTeRIH CHTBID 6ullp Fnl L LILIL L T60V.

Find the compound interest on Rs. 320000 for one year at the rate of 20% pa if
the interest is compounded quarterly.

h. 320000, 20% ouewiB alliguiled @ITewNged OCFTBHGHID Tl (B eIl I9H0HTend
HMHH(HB. HTevTenih CHTBID 6ul'ly Fnl L LILILL T6V.

Ramesh deposited Rs. 7500 in a bank which pays him 12% interest per annum

compounded quarterly. What is the amount which he receives after 9 months?
gCwad eumdluied 5.7500 OQLUTH OFUIS@BIT.  uhid eUmHbE 12 el
aulguiled &meomeni(h CaHT@ID el pemul CETHSHSBH. 9 WIHD L] SeuT GLBB
OFHTNHMUW  HT6HIH?

Find the C.I. on Rs. 24000 at 15% pa for Z%years.

¢5.24,000, 15 % opewih et 1guiled 2% QAUHLBIH6T60 CBETHHGID Fnl BeUL 19SH0HTEND

FHITEU0TE:

In what time will Rs. 800 amount to Rs. 882 at 5% pa compounded annually?
THHMA  BTevdHFHev h.800, . 882 b o WD 5% Ywih el lguied
W BCHTHID QU1 Ful BLOELTLHSHI?

In what time will Rs. 64000 amount to Rs. 68921 at 5% pa, interest being
compounded half-yearly?

THBHM BTVHH6 564,000 h. 68921 o1F o wiHd, 5% WMIG e 1guiled, el iy
Slengwrenih CaHTmID gal L LLGLOLITOSI?
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14. At what rate percent per annum, compound interest will Rs. 10000 amount to

Rs. 13310 in 3 years?
abd MG LB aully aissHHe0 3 auBLMSeNe . 10,000, b 13,310 &
o _uI(mpLd?

Formulae for population growth and an article depreciation

i. If population grows, then
Population after n years = P(1+ %)
ii. If population decreases, then

Population after n years = P(l—%j

iii. If population grows at the rate R % on I year and R, on second years, then

i _pf1e R (14 R
population after 2 years = P(1+ 100)(“ 100)

iv.  If the value of an article is depreciate, then

Value of the article at the end of n years: V, =V, [1—%)

v. If the rate of depreciation is R % for first n, years, R, for next n, years and

nl n2
so on, then the value at end of (n,+n,+..) years V =V, [1—%) [1—5)—%)

0&HFH6T OFHTensd eauenTFd wmmId GuTHLBefer CHUIDTRID HETHH B GHHTLD.

1. W&FH6T CHTEMS UGNTHSHT6D, N U(HLBISET L6 L&HH6TEHTEND :P(1+ij

100
1. &&6T OFHTND GMBHSHTED, N UBHLMIGHET LIGIL| LOHHTOHTENS :P(l—%jn
iii. wéHel  OTwsd | aumLHHed Ri% apb wmppd 1T eumrsddled  Ry%apid
® WihHTe0 2 eUHLMIG6T L6 wdHHeT CHTend :P(1+%j(l+llz—20j

1v. Gurmefle & Gpuiomerd SIWLHSHTL, N auBL Smiguled Gummefler WL

v =y, [1-
100

V. Bzuioter aisb (1pHed N aBHLSH® R b@wpd, HIBHS n,abBLSHe0 R, (LpID 616

nl n2
QFHTLTSmE eefed (N, +n,+..) bl @migluled LV :VO( —%j (1_12_20j
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The population of a town is increasing at the rate of 5% pa. what will be the
population of the town on this basis after two years, if the present population
is 160007

R BBIJHHE  10EBeT  OHTE QewgBEG S% 2 WTHSBE.  BmHLiBLTeL
Smulear sBeuTgl WwéFHeT GFHTenms16000 6leled @Tewi(B UHLMIS6T L6 LdHSH6N
O®Tenss 616016017

The population of a village is 20000. if the annual birth rate is 4% and the
annual death rate 2%, Calculate the population after 2 years.

QM BMSHH6 bbHeT GHTens 20,000 oG LUnly aldsd 4% WHBHID SLeEH
@iy aldsd 5% 2 eumLid e 2 6o 10H®6IT OFHTendmul HewIbH BHH?

The population of a town was 160000 three years ago. If it had increased by
3%, 2.5% and 5% in the last three years, find the present population of the
town.

3 QUBLID (PSTY QH BBIHH6T HH6eT GpTens 160000. 3 oewihaeilsd @iz 3%,
25 % wBpp 5% o wihbHmbITen, SHBOUTH  DIHBBTHHE  LDEHHTOHTEND
BITCNTEb.

The population of a town 2 years ago was 62500. Due to migration to cities, it
decrease every year at the rate of 4% p.a. Find its present population.
2 QUBLID (1peil] @h BBIIHHT  IDHH6T  QFHTensd 62500. HBIBIGBEHHEG LD

QuwiTeFTeL OIHI  PAICAITH THID  peTHEBG 4%  GHOBASBH.  DIH60T
SBCUTMSHW 1DHH6T CHTeND HTEWIH?

In a factory the population of scooters raise to 48400 from 40000 in 2 yrs. Find

the rate of growth p.a.
QM OFHTHBFTEmeUNED 60T L TeHeflelr elemienibend 2 auhHLMmIS6TNe0 40000 60(HbHS)
43400 o o WTHIBH. PeWIBGCHTHILD DiHetT UeNTFS FHAHD HT6wIH?

The Bacteria is a culture grows by 10% in the first hour, decreases by
10% the second hour and again increases by 10% in the third hour. If the
original count of the bacteria in a sample is 10000, find the bacteria Count at
the end of 3 hrs.

@ wrHiuled mHlewaulT (WwHeo @b  wenll  CEISHed 10 % euenTHSIBEI.
@yewi_meugdl el CHyHHed 10 % GHMOBHOBH OBHBID  OBILIQUILD  CLPEITBTAIG)
wewil  CrrHHed 10 % o widams, (PHeved rHMuled  miewTamiuiiTaer et
oTewienfidena 10000 eteafled  cpeiimmeugl el GBIy  @migHulled  miestemiu T eredr
6T6U0T6U0N HeNE  HITEHII:

Kumar opened a textile with an initial investment of Rs 32000, In the first
year, he incurred a loss of 5%. However, during the second year, he earned a
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profit of 10% which in the third year raised to 12% % p.a. calculate his net

profit for the entire period of 3 yrs.
GWTT b 32,000 WpHeSB OCFUIBH @ DMeleldbsmLemul HMHH@BIT.  (LPHeL
ABLSHO ST 5% [HULD DL SSBTT  S(HHSTeD, SFewiLmd eumLD 10%

UTULD  QUBISGIBTT. DIH  PABTEUGH  UMBLLD  ewIBHHG 12% % B

® WITHSMSHI. (WD cpeiill U(HL HTeSHH 60 Sieufladl BIBT GUTLLD HTewISH:

The Value of a residential flat constructed at a cost of Rs 100000 is
depreciating at the rate of 10% per annum. What will be its value 3 yrs after
construction?

eh. 100000 wHIS OFHTWNIL @F AGSG0LINY Guidmin oueiGsE 10 %
GxpuIDTeID SjemL_Hleimdl. SULLUULG 3 auhLD 6] SigHet WHI SHTemns?

The value of a property increases every year at the rate of
5%. If its value at the end of 3 years be Rs 411540, what was its original value
at the beginning of these years?

R OFTHHST HY thCHTBID 5% e@id aiHHH0 2 WTH@BSH. 3 aUHL
BupIHuled SIHeT HY H. 411540 elelled eU(HLMIB6MET OHTLHHHH60 SIFHeot
© GIENLOWITET (DHIIL| SHT6uoTd ?

Some special problems:

Simple interest on a sum of money for 3 years at 6% % p.a.is Rs 2400. What

will be the C.I on that sum at the same rate for the same period?
R OFTmad 3 aUHLHHL 6% % e el lguied COaTBHB Sl el 19HoHTend

(h. 2400 9I6% sTeLHIBG DI8FH 'y AlFHHIH0L DIHOHTMS HHD LG 6Ll lg
BT ?

The population of a town is increasing at the rate of 6% p.a. It was 238765 in
the year 2018. Find the population in the year 2016 and 2020.

RH BETSHGT 105B6T OFTend LewihCHTHID 6 % o wiTdSma. g 2018 60
238765, 2016 wmmib 2020 6O DIGHST DHH6T OHTNDH HTEWISH?

The value of motor cycle 2 years ago was Rs 70000. It depreciates at the rate of
4% p.a. Find its present value.

2 UL (el @b GrlLrT engsbdleler alensv h. 70,000. g 6w bEHTHID
4% @zxpulomerd SWLFHEBH. DiHeT HBELTMSHW LDFHIIL| HT6wTH:
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Differnce between S.I. and C.I.

e There is no difference is S.I. and C.I. for the first conversion period.
e For 2 years, the difference is S.I. and C.L

2
C.l.-S.I1.=P R
100

RY(,. R
e For3years, Cl1.-S1.=P| — | |3+—
100 100

2 2
For 4 years C.I.—S.I.:P(ij 6+ﬁ+(ij
100 100 \100

S.I pp C.I. @oLCw 2 _sien allgghwnaLd
® (1pH6L LTBHI STVHHBEG Hellaully gl Beully Dewl Bl alHHWITFD Be0en6v.

2
o 2 aumLmbensG S.I oppid C.I @ Cui o eten allghaduinaid C.I.—S.I.:P(%J

o 3 aumLmsendG S.I oppibd C.I. Qe G 2 6ten aldhHuImFid

2
Cl-s1=P[ 2| 3+
100 100

o 4 aumpLmsendd S.dioppib C.I. @ Cu o eten algaHwingid
RY|. AR (RY
c..._s.u.:p(_j e+_+(_j
100 100 \100

Find the difference in C.I and S.I for P= Rs 5000, R=4% p.a. and n=2 yrs.
P= ep. 5000, R= ouemipB8xpmumid 4% wmmidb n=2 eumLmiser C.I wpmip S.I
B G 2 _sTenn alSHHULITFID HT6wIH:

Find the difference in C.I and S.I for P= Rs 8000, R=5% and n=3 yrs.

P= ¢5.8000, R= 5% <ouewiGCasmmid wwmmid n=3  emLmiser CJI wppid S.I
AL B 2 _siten alGHHUWITHFD SHTewIH?

The difference between the compound interest and the simple interest on a

certain sum at 7% % p.a. for 3 years is Rs 110.70. Find the sum.

R OFTmad 3 aUmHLGHIH6L 7% Y%ooemih  alliguied GaThHdH &nl (Beullp LoBEID
el 19sh OHTensHelar alSHHWTFD h. 110.70 DISHOHTEHHMUI  BHIT6HIH:
Find the ratio of C.I to S.I on a certain sum at R% for 2 yrs.

o GPUI L Gamams R% HHeo 2 eaumLmisefled OQarhasgd C.I wppid S.I
HGD 2 _6iT6em S FHD HTewIH:
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